Correllate the Muon Telescope and LAT Times (E2E Run B-10 Pb over top + bot scints) Gary Godfrey
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Make bins of width dt with the lower edge at the Muon time.
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Histogram EvtTicks into these tshifted bins. Then count the contents of the even bins.
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Find the closest EvtTick within 5t associated with each Muon. Assume both arrays are monotonically increasing.
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Tracker doesn't always point at the scintillators (though these events are near the pole and can give wild phis).
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Compare the Clks Using the Coinc Muons

The Muon telescope downward unit vector appears to be:
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Extrapolated Y vs X

Extrapolated Y vs X (with cal E)
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